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N of associated (recoToSim) looper tracks vs dxy(PV)

1%} 9] %] [%]
x x o X X -
Q Q [} Q
g 8 8 g
S g 2
g & g107)
=
3
T
107
2 8 pe] .
i K] 3 :
o 14 @ .
- e
I R 0 N HES I RSSO SO S S
0 -20-15-10 -5 0 5 10 15 20 =20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
AGPY oo cs an track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
] = -
[N of reco trackvs| ———— —N N
2 R 2 2
[5] [} [} Q
s g g g
B g 2 o
E & 8
=
=}
o
il 8 2 . 8
s K] s : K]
@ 14 . @ . . 14
J| S i S
1 (1] I H | o I I U TR DU D T
.2 0 02 04 06 038 =0.8-0.6-04-02 0 0.2 0.4 0.6 08 =0.8-0.6-04-02 0 0.2 0.4 0.6 0.8 D8-06-04-02 0 0.2 04 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
%] 9] 2] [%]
x x x X
Q Q [=] Q
[ g g g
Q Q Q
210° & %10
=
=]
T
10™
2 .
3 :
@ .
| Jeeeen P
| o ] e ol i ol S e - B Bl Cala ol : . . . . . . .
-30 -20 -10 0 10 20 30 -30 -20 -10 0 10 20 30 o =30 -20 -10 0 10 20 30 -30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2] 1%} %] (%]
X x o X X
Q Q Q Q
g 8 8 g
= [} Q Q
2102 s ]
=
pm}
k=]
2 o
s s
@ @

3- -

track dz(PV) (cm)

05 1
track dz(PV) (cm)

0

05 1
track dz(PV) (cm)

T 05 0 05 1
track dz(PV) (cm)




	Contents
	Page 1


